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Latest News - March 2003

Inflation Web Page Update

The Naval Center for Cost Analysis (NCCA) Inflation files were updated in March 2003 to incorporate the March 2003 composite weights received from N801 and to adjust the 2003 inflation rate for civilian pay from 3.1% to 4.1% as a result of congressional action in Feb. 2003.

The files were updated in Jan. 2003 with the new inflation rates and outlay rates provided in OSD’s inflation guidance.  These rates are used for preparing the FY04/05 budget.

1.  Background

There are three files related to NCCA’s inflation indices.

1. Inflation Calculator Workbook (Excel file)

2. Inflation Update Workbook (Excel file)

3. This Documentation (Word file) – 3 appendices, 2 attachments

Purpose and History

The Inflation Calculator is an Excel workbook that allows users to easily escalate and de-escalate costs.  The user may choose a cost or appropriation and base year, and the calculator generates appropriate tables and assists in performing the correct calculations.  The calculator is unclassified and not sensitive, and placed on the NCCA web site for downloading.  The current NCCA inflation calculator file was developed in 2002 using the data and some of the functions from earlier NCCA inflation tables and functions.  

The Inflation Calculator File

The calculator file uses several macros and look-up functions.  Most sheets are protected, and some will require un-protection in order to update.  The file is documented with internal instructions and comments that are not be described here.  There are three hidden sheets that are of interest only to experienced users.  

The Update Process and Data Sources

The NCCA Inflation Calculator is updated annually using the Inflation Update file, to reflect the latest inflation guidance from OMB/OSD.  All contacts for update input are in Appendix 1.   After completing the update, send the Inflation Calculator file to SYSCOM POCs for review.

Source Documents – OSD Guidance

OSD provides inflation guidance annually, usually in late January by memorandum from USD(Comptroller), Subject: Inflation Guidance.  OSD has provided this memo as much as several months late.  The memo can be obtained from Marie Curtain, OSD Comptroller staff.  The attachment to this memo contains “Price Escalation Indices” or inflation rates for the FYDP and two prior years for 8 non-pay cost elements and 3 pay elements.  The rates given for the final year of the FYDP are to be used for all subsequent years.

On the first page of the OSD Attachment, NCCA uses the rates in the “Outlays” section, not the “Budget Authority” section.  NCCA uses the Procurement (purchases) and O&M Fuel rates and from the Pay Raise Assumptions NCCA uses the Military and Civilian pay escalation rate.

The OSD memo also has attachments with outlay profiles for all appropriations.  [source for explanation of outlay]

Source Document – ASN(FM&C) Guidance

ASN(FM&C), FMB also issues annual inflation guidance in January in Budget Guidance Memorandum BG XX-X.  This is an alternative source for rates, particularly if the OSD guidance is late.  Page 1 of Enclosure 4 of the BGM restates the OSD annual inflation rates for four cost elements: Fuel, Other (all purchases), Military pay and Civilian pay.  This BGM can be obtained electronically from the FMB web page [show web site] or from Judy Parker or her staff.  FMB may use different equations that result in rates and indices that are similar but slightly different from NCCA’s. 

Page 2 of FMB’s Enclosure 4 restates the OSD outlay phasing for the Procurement/Purchases cost element for Naval appropriations.  These outlays do not apply to pay and fuel.  If OSD is late in issuing guidance, FMB may issue preliminary guidance using the prior year’s outlay rates.

Composite Weights

The weights used to calculate the composite indicies are obtained from an Excel file prepared annually by N801.

2.  Updating the Inflation Calculator Workbook

This section describes how the Inflation Calculator is updated with revised tables from the Inflation Update Workbook.  Most of the inputs for updates are made to the Update file and the results then transferred to the Calculator.

The “Main” sheet should be updated for the date of the latest update, the applicable budget years and notice of significant changes, corrections etc. since the last update.

The updated values from two sheets "CombOutFac" and "raw inflat" are transferred from the Update Workbook to similar sheets, "CombOutFac" and "Inflation" in the Inflation Calculator.  Transfer values for all years and all appropriations.  To update, these sheets must first be un-hidden.  After completing the transfer, hide these sheets to avoid user confusion.

If the composite weights have changed, transfer the values for composite weights from the Update file to the Calculator “Composite” sheet in the same way as described above.  This is provided for user information only and does not affect operation of the Calculator.     

The SAR parameters are obtained from Paulette Whitaker, ASN(RDA), 614-0145, Rm. 5C724.  These are transferred directly into the SAR worksheet.  These are included as information for users preparing SAR reports and are not used in processing of inflation indices.

If there are any changes to appropriations or processes, the “Titles” and “Instructions” sheets should be updated.  Links in the “Links’ section should be checked and updated as needed.

After the updates are checked and tested, the file should be sent to NAVSEA and NAVAIR staff (see POCs in Appendix 1) for review.  After their review, the file is protected and put on the NCCA web site with notice of its availability.

3.  Inflation Update File

This file receives the current inflation rates, outlay profiles and composite weighting factors, and generates revised inflation indices that are transferred to the Inflation Calculator.   

This file consists of the following sheets.

· About

· Raw inflat

· Rate Input

· CombOutFac

· Composite 

· Sheets for 20 appropriations

1.  About

Describes the latest update and contains the outlay rates from OSD guidance.

2.  Raw inflat

This sheet contains raw inflation rates with no outlays.  This sheet pulls raw FY inflation rates from the "Raw Input" sheet.  

In the blue section, updates are pulled from the "Rate Input" sheet.  For the annual update, the updater copies the formulas from the rows for the prior update years into the rows for the latest FYDP years.  Do not update the columns beyond AL since these automatically calculate the composite indices using the composite sheet.  The values for the years following the last update are copied automatically from the last updated year.  After completing the update for this sheet and the Rate Input sheet, transfer the updated values (not formulas) to the inflation calculator’s "Inflation" sheet.

3.  Rate Input

The updater copies the following four OSD inflation rates into this "Rate Input" sheet.

Proc

O&M fuel

Military Pay

Civilian Pay

These rates may be obtained from either OSD or FMB guidance.

The updater also adds the rate for SCN(BLSHIST) which come from the Bureau of Labor statistics via NAVSEA, Lisa Pfeiffer.  

The rates for military and civilian pay are effective Jan. 1.  The Inflation Update file converts them to a fiscal year bases (see Appendix 2 for details).  

Input the raw inflation rates from OSD/FMB and NAVSEA into the blue columns (D-H) on this sheet.  OSD provides pay rates based on a calendar year, therefore, military and civilian pay rates must be adjusted from calendar to fiscal year (see Appendix 2).  Columns B and C convert the OSD calendar year pay rates in columns G & H into fiscal year rates.  

Copy existing formulas from prior years into the new FYDP year rows.  The "raw inflat" sheet pulls in the values from columns B thru F.

4.  CombOutFac

This sheet stores the combined outlay factors used to generate a weighted index.  This sheet pulls combined outlay factors from the appropriation sheets beginning with FY93.  Prior year values were copied from a separate file.  (Historical note: This sheet was originally calculated from the FY2003 inflation file created in Jan. 2002 by Harold Dagel, "inflation source data.xls".  It combines the outlay profile into a single outlay factor by dividing the weighted index by the raw index.)  

At each annual update, copy the formulas from the last updated (FYDP) row into the rows for the current FYDP so that the new factors can be pulled in from the appropriation sheets.  The rows after the FYDP years are automatically copied from the latest FYDP row.  To assist location, the latest updates are shown in blue. 

Do not modify or update the columns beyond AL since these automatically calculate the composite outlay factors using the composite sheet.  After updating this sheet and the appropriation sheets, transfer these values to the Inflation Calculator workbook, CombOutFac sheet, where they are used to calculate weighted indices.  

5.  Composite

The composite weights are the percents that each cost element contributes to the composite appropriations.  O&MN, for example, is made up of Civilian Pay, Fuel and Purchases.  These weights are used to calculate the composite indices, are obtained from N801 and are updated annually as soon as they’re received from N801.  N801 calculates the composite weights for each appropriation annually, using an Excel file, and publishes the Excel file usually in March.  NCCA maintains 13 composite appropriations.

The composite weights are copied from the “Weights…” sheet in the N801 Excel file.  Copy the weights from the gray area and paste them (use Paste Special, Values, Transpose) into the Inflation Update file, “Composite” sheet for each of the thirteen composite appropriations.  Only the FYDP years need to be transferred.  The N801 weights do not change after the FYDP years.  The blue rows on the “Composite” sheet indicate the last updated years.  Subsequent years beyond the FYDP are automatically copied from the last updated year, which is consistent with N801’s file.  

6.  Appropriation Sheets

There are 20 appropriation sheets that pull the purchases inflation rate from the “Rate Input” sheet and hold the outlay rates for each appropriation.  Their formats and calculations are identical.  They calculate a raw index (col. C) a weighted index (col. D) and the weighted index factor (col. F) for each year.  See Appendix 3 for an explanation of the weighted index calculation.  The weighted index factors, also called combined outlay factors are pulled into the “CombOutFac” sheet.

Each appropriation sheet is updated annually with the latest outlay rates.  Transfer the outlay rates from the OSD or FMB guidance attachments to each appropriation sheet, columns H thru N.  Transfer into the row two years prior to the year the data is received.  Subsequent rows are automatically copied from the input row.  For example, in Jan. 03 we received the outlay rates for use in the FY04/05 budget.  These were used to update the outlay rates in FY01.  FY00 was not changed and becomes the permanent historical rates.  

Each year, the FYDP and the prior 2 years are updated.  The third year prior to the FYDP is not updated and becomes permanent history.  [explain this convention]

Note only the "Purchases" escalation rate is subject to outlay factors.

Appendix 1

Inflation Contacts

ASN(RD&A)

Paulette Whitaker, ASN(RDA), 614-0145, Rm. 5C724.  Provides SAR parameters.

Coral Ramsey (703) 614-0160.  Works with Paulette

NAVAIR

Lara Rupinski (301) 342-0252, Fax (301) 342-2397  NAVAIR support contractor for inflation

Ron Kabin (301) 342-2441  NAVAIR inflation POC

NAVSEA

Lisa Pfeiffer SEA-017 (202) 781-2766.  


Fax (202) 781-4661

Runs NAVSEA’s inflation tool and provides SCN (BLS) historical inflation.

FMB 
Judy Parker FMB-325 (703) 695-5841
N801

CDR Lou Cariello (703) 692-5433

OUSD(C) DoD Comptroller, Plans and Systems

Marie Curtain, (703) 697-3345 3A862, OSD Comptroller staff.  Source of OSD Inflation Guidance

Robert Shue 697-9197 

Appendix 2

Pay Conversion from Calendar to Fiscal Year

OSD provides the military and civilian pay raise effective Jan. 1.  To be consistent with the budget and other cost elements, NCCA converts these to a fiscal year basis.  There are two methods used for this conversion.  The first, Method 1 below, is simpler, but does not include the compounding effect of the raises.  Method 2 is accurate as shown in Attachment 1.

For the following formulas, let:

R1 = pay raise that becomes effective Jan. 1 of FY1

R2 = pay raise that becomes effective Jan. 1 of FY2

Monthly pay at first month of FY1 = $1/mo

FY2 pay consists of 3 months of R1 (Oct-Jan) and 9 months of R2 (Jan-Sep).  

Method 1

This calculates the FY raise by taking 1 quarter of the prior year and 3 quarters of the current year.

FY2 raise = 1*R1  +  3*R2
                               4

Method 2

An alternative adjustment to calculate the pay raise from FY1 to FY2 is derived as follows:

Pay in FY1, will include 9 months of the pay raise received in Jan of FY1 (R1), therefore,

Pay received in FY1 = 3 months * $1/mo   +   9 months * $(1*R1)/mo

Pay in FY2, will include 3 months of the R1 raise and 9 months of the pay raise received in Jan of FY2 (R2), therefore,

Pay received in FY2 = 3 months * $(1*R1)/mo   +   9 months * $(R1*R2)/mo

The pay raise from FY1 to FY2 is     Pay in FY2/Pay in FY1 = 

3 months * $(1*R1)/mo   +   9 months * $(R1*R2)/mo

3 months * $1/mo   +   9 months * $(1*R1)/mo

This simplifies to: 

1  +  3R2

1/R1  +  3

Note the rates should be entered in the form 1.0X.  For example a 4% rate would be entered as 1.04.

Appendix 3

Outlay or Spend-out Rates

Applying spend-out rates (outlay profile) to prior two years 

NCCA, NAVAIR, N801 (in support of N80 programming) and NAVSEA use the current OSD outlay profile to calculate weighted indices for the prior two years as well as future years.  As a result, the permanent weighted inflation rates for historic years are based on the outlay profile that was published by OSD two years later. 

There is no documentation for this two-year lag method.  An alternative method would be to adjust only the current and future years so that the historic weighted inflation rates would be based on the outlay current at the time, not two year in the future.

John Cewe, OSD, explained that he uses the prior three years of historical outlays reported by Treasury to estimate the current outlay profile contained in the annual OSD guidance.  This method supports a three-year lag since the current outlay profile reflects the actual outlay from three years prior. 

Alternate Methods to Convert between TY$ and FY$

Derivation of the Formula to Calculate the Weighted Index

Assume that expenditures are reported in then-year or current dollars rather than in constant or base-year dollars.  This is the assumption made by the OSD staff that develops the outlay/spend-out rates.

$K =  cost in constant or base-year 

$TY = cost in then-year

Ei = percent expenditure in year i

Ri = raw inflation index in year i

By definitions, $TY = $K * Ri

And $K = $TY

                   Ri

When outlays are spread among multiple years,

$K = $TY*E1 + $TY*E2 + … + $TY*Ei
              R1             R2                      Ri

$K = $TY *    (E1    +        E2     + … +       Ei)
                        (R1              R2                      Ri)
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Sample Case Assumptions

Expenditure Year

1999

2000

2001

2002

Total

Spend-out Rate observed TY$ (%/yr)

25.00%

25.00%

25.00%

25.00%

100.00%

Raw Inflation Rate

10.0%

10.0%

10.0%

10.0%

Raw Index calculated from above rates

1.0000

1.1000

1.2100

1.3310

Sample Case Calculation

Total

TY$ Observed

250.0

  

 

250.0

  

 

250.0

  

 

250.0

  

 

1,000.0

  

 

TY$

De-escalate TY$ to '99$ using raw index 

250.0

  

 

227.3

  

 

206.6

  

 

187.8

  

 

871.7

     

 

FY$

TY$/1999$

1.1472

   

 

2 Methods to calculate the FY to TY weighting factor

Factor

sum

1/sum

Method 1 (NCCA)

0.2500

0.2273

0.2066

0.1878

0.8717

1.1472

1 / sum (spend-out rate/raw index)  

sum

Method 2 (Old)

0.2500

0.2750

0.3025

0.3328

1.1603

sum of (spend-out rate * raw index)



Comparison of Methods to Calculate FY  to TY Weighting Factors

This sheet examins the factors to convert between FY and TY.  It establishes a sample case and 

determines emperically the difference (factor) between the observed TY$ and the de-escalated FY$.  

It then uses two formulas to calculate the same factor.  The first method is accurate.
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Raise

Pay

FY1

o

1.0000

n

1.0000

d

(R1)

1.0000

CY1

j

1.037

1.0370

CY1 raise takes effect

f

1.0370

m

1.0370

a

1.0370

m

1.0370

j

1.0370

j

1.0370

a

1.0370

s

1.0370

12.333

Total pay received in FY1

FY2

o

1.0370

n

1.0370

d

(R2)

1.0370

CY2

j

1.046

1.0847

CY2 raise takes effect

f

1.0847

m

1.0847

a

1.0847

m

1.0847

j

1.0847

j

1.0847

a

1.0847

s

1.0847

12.8733

Total pay received in FY2

o

1.0847

n

1.0847

12.8733

d

1.0847

12.333

1.043811

Method 1

R1

R2

FY raise

FY2

1.037

1.0460

quarters

1

3

sum

/4

1.037

3.1380

4.1750

1.04375

Close but not exact

Method 2

R1

R2

1.037

1.0460

3.0000

3.1380

FY2

4.1380

1.04381

Exact match

FY1

3.96432

Methods to Convert Pay Raise from Calendar to Fiscal Year

Raise = 

1*R1  +  3*R2

                     4



Raise = 

1  +  3R2

             1/R1  +  3



Pay increase from FY1 to FY2

(FY2 pay/FY1 pay) = 

This sheet shows emperically how a calendar years raise affects the fiscal year pay increase, and 

compares two conversion formuals for converting CY to FY.  It shows the second formula is accurate.

For the following formulas, let:

R1 = pay raise that becomes effective Jan. 1 of FY1

R2 = pay raise that becomes effective Jan. 1 of FY2

Monthly pay at first month of FY1 = $1/mo




$K *   .                  1.                           . .      =  $TY

          (E1    +        E2     + … +       Ei)
          (R1              R2                      Ri)

The figure in brackets is the factor used to develop the weighted index.  This is illustrated and compared with an alternative calculation in Attachment 2.

Attachment 1

Calculation of Pay Conversion Formulas
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Total pay received in FY2
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1.0847
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12.8733
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Method 1

R1

R2

FY raise

FY2

1.037

1.0460

quarters

1

3

sum

/4

1.037

3.1380

4.1750

1.04375

Close but not exact

Method 2

R1

R2

1.037

1.0460

3.0000

3.1380

FY2

4.1380

1.04381

Exact match

FY1

3.96432

Methods to Convert Pay Raise from Calendar to Fiscal Year

Raise = 

1*R1  +  3*R2

                     4



Raise = 

1  +  3R2

             1/R1  +  3



Pay increase from FY1 to FY2

(FY2 pay/FY1 pay) = 

This sheet shows emperically how a calendar years raise affects the fiscal year pay increase, and 

compares two conversion formuals for converting CY to FY.  It shows the second formula is accurate.

For the following formulas, let:

R1 = pay raise that becomes effective Jan. 1 of FY1

R2 = pay raise that becomes effective Jan. 1 of FY2

Monthly pay at first month of FY1 = $1/mo
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Sample Case Assumptions

Expenditure Year

1999

2000

2001

2002

Total

Spend-out Rate observed TY$ (%/yr)

25.00%

25.00%

25.00%

25.00%

100.00%

Raw Inflation Rate

10.0%

10.0%

10.0%

10.0%

Raw Index calculated from above rates

1.0000

1.1000

1.2100

1.3310

Sample Case Calculation

Total

TY$ Observed

250.0

  

 

250.0

  

 

250.0

  

 

250.0

  

 

1,000.0

  

 

TY$

De-escalate TY$ to '99$ using raw index 

250.0

  

 

227.3

  

 

206.6

  

 

187.8

  

 

871.7

     

 

FY$

TY$/1999$

1.1472

   

 

2 Methods to calculate the FY to TY weighting factor

Factor

sum

1/sum

Method 1 (NCCA)

0.2500

0.2273

0.2066

0.1878

0.8717

1.1472

1 / sum (spend-out rate/raw index)  

sum

Method 2 (Old)

0.2500

0.2750

0.3025

0.3328

1.1603

sum of (spend-out rate * raw index)



Comparison of Methods to Calculate FY  to TY Weighting Factors

This sheet examins the factors to convert between FY and TY.  It establishes a sample case and 

determines emperically the difference (factor) between the observed TY$ and the de-escalated FY$.  

It then uses two formulas to calculate the same factor.  The first method is accurate.

Attachment 2

Comparison of Methods to Calculate FY to TY Weighting Factors
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		Comparison of Methods to Calculate FY  to TY Weighting Factors

		This sheet examins the factors to convert between FY and TY.  It establishes a sample case and determines emperically the difference (factor) between the observed TY$ and the de-escalated FY$.  It then uses two formulas to calculate the same factor.  The first method is accurate.

		Sample Case Assumptions

		Expenditure Year				1999		2000		2001		2002		Total

		Spend-out Rate observed TY$ (%/yr)				25.00%		25.00%		25.00%		25.00%		100.00%

		Raw Inflation Rate				10.0%		10.0%		10.0%		10.0%

		Raw Index calculated from above rates				1.0000		1.1000		1.2100		1.3310

		Sample Case Calculation												Total

		TY$ Observed				250.0		250.0		250.0		250.0		1,000.0		TY$

		De-escalate TY$ to '99$ using raw index				250.0		227.3		206.6		187.8		871.7		FY$

		TY$/1999$												1.1472

		2 Methods to calculate the FY to TY weighting factor														Factor

														sum		1/sum

		Method 1 (NCCA)				0.2500		0.2273		0.2066		0.1878		0.8717		1.1472

		1 / sum (spend-out rate/raw index)

																sum

		Method 2 (Old)				0.2500		0.2750		0.3025		0.3328				1.1603

		sum of (spend-out rate * raw index)

		Show when the old method works.





Sheet2

		You have an estimate in TY$.  How much is this in year 1 constant FY$?

		De-escalate from TY to FY

						1		2		3		4		Total

		Estimated/Observed in TY$				500.0		500.0		0.0		0.0		1000.0

		Constant FY$				500.0		454.5		0.0		0.0		954.5		Matches Method 1

		You have an estimate in year 1 constant FY$.  How many TY$ will you need to have today's purchasing power?

		Escalate from FY to TY

		Requirement in constant FY$				871.7								Sum

		Spread FY$				250.0		227.3		217.9282494365		217.9282494365

		TY$				250.0		250.0		263.7		290.1		1053.8

		Implied TY Profile is different				23.7%		23.7%		25.0%		27.5%		1.0

		Weighting Factor Comparison Calculations for Sample Case

		De-escalate $1000 from TY to FY99								Escalate $872.7 from FY99 to TY

				Factor		TY->FY				Factor		FY->TY

				1000						- 0

		Method 1		0.0000		0.0				0.0000		0.0		Correct

		Method 2		0.0000		0.0				0.0000		0.0		Incorrect
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Explanation

		



Conversion from calendar year to fiscal year pay raise

OSD provides military and civilian pay raises effective Jan. 1.  To be consistent with other cost elements, NCCA converts these to a fiscal year basis.

For the following formulas, let:
R1 = pay raise that becomes effective Jan. 1 of FY1
R2 = pay raise that becomes effective Jan. 1 of FY2
Monthly pay at first month of FY1 = $1/mo

FY2 pay consists of 3 months of R1 (Oct-Jan) and 9 months of R2 (Jan-Sep).  

Method 1
Originally, NCCA calculated the FY raise by taking 1 quarter of the prior year and 3 quarters of the current year.

FY2 raise = 1*R1  +  3*R2
                            4

Method 2
An alternative adjustment to calculate the pay raise from FY1 to FY2 is derived as follows:

Pay in FY1, will include 9 months of the pay raise received in Jan of FY1 (R1), therefore,
Pay received in FY1 = 3 months * $1/mo   +   9 months * $(1*R1)/mo

Pay in FY2, will include 3 months of the R1 raise and 9 months of the pay raise received in Jan of FY2 (R2), therefore,
Pay received in FY2 = 3 months * $(1*R1)/mo   +   9 months * $(R1*R2)/mo

The pay raise from FY1 to FY2 is     Pay in FY2/Pay in FY1 = 

3 months * $(1*R1)/mo   +   9 months * $(R1*R2)/mo
3 months * $1/mo   +   9 months * $(1*R1)/mo

This simplifies to: 

1  +  3R2
1/R1  +  3

These methods give slightly different results with Method 2 putting more weight on R2.



Sample Calculation

		Methods to Convert Pay Raise from Calendar to Fiscal Year

				Mo.		Raise		Pay

		FY1		o				1.0000

				n				1.0000

				d		(R1)		1.0000

		CY1		j		1.037		1.0370		CY1 raise takes effect

				f				1.0370

				m				1.0370

				a				1.0370

				m				1.0370

				j				1.0370

				j				1.0370

				a				1.0370

				s				1.0370		12.333		Total pay received in FY1

		FY2		o				1.0370

				n				1.0370

				d		(R2)		1.0370

		CY2		j		1.046		1.0847		CY2 raise takes effect

				f				1.0847

				m				1.0847

				a				1.0847

				m				1.0847

				j				1.0847

				j				1.0847

				a				1.0847

				s				1.0847		12.8733		Total pay received in FY2

				o				1.0847

				n				1.0847										12.8733

				d				1.0847										12.333		1.0438107516

		Method 1

										R1		R2				FY raise

						FY2				1.037		1.0460

						quarters				1		3		sum		/4

										1.037		3.1380		4.1750		1.04375

																Close but not exact

		Method 2								R1		R2

										1.037		1.0460

												3.0000

												3.1380

												FY2		4.1380		1.0438107516		Exact match

												FY1		3.9643201543



Raise = 1*R1  +  3*R2
                     4

Raise = 1  +  3R2
             1/R1  +  3

Pay increase from FY1 to FY2
(FY2 pay/FY1 pay) =

This sheet shows emperically how a calendar years raise affects the fiscal year pay increase, and compares two conversion formuals for converting CY to FY.  It shows the second formula is accurate.
For the following formulas, let:
R1 = pay raise that becomes effective Jan. 1 of FY1
R2 = pay raise that becomes effective Jan. 1 of FY2
Monthly pay at first month of FY1 = $1/mo




